SORUTTONS => ERUATIONS OF CTRCLES [EALTPSES
P LO

FiEJVJ_'i.’
R T

@) r=6 )
Ls 'X i—ﬁz__CG)

b) r= 15
I_>r‘x -!-82_(\}_—)2

%=+ T

) '-!J— d) r=3J2 .

¢ rl_>fx +yt= (7)) x*+y*= (32)°

ALt g = (uo)m) K2+ G o= ()
')(f:j‘=llib -7("'1—3‘=l8

b) a- m-hzrc,ep'\'s

a) EldluSH J__
> V= HJ3 and 4
r= J—L — "

£= 164_3
units
d) domain

) infercepts
j—» 43 oad q{z -
R R R R Y

€) \"Cmﬁe

1yl-lS=y< a5, yerg

2 Aq _X11_ 51 -
a) ruchu.s b) ’x m+ernepf5 a) tjv..n{—emepts
>:_\§5_‘ -9 and + & -9and 9
r=9units
&) domain e) range

IxI-9x=q,aeR} {y4l-9<¥=9,yen]

3.+ 3’1=25
a) (N, 2)
TF x=-N

(oordmate >(-4,3)

(4)*+ >
or

1o+
gj _%5 6
9;1-\1_@— 9:1‘.3



b) %%+ 3"‘=l‘5

(2,3
TF y=3:
A+ (B)*=25
A*+ 9 =25 Coordinate & (4,3)
x*=95-9 or
x* = | C4,3)
A=l
X =ty
Q) (273, )
TF %= 213¢
(213)*+y*= 95
D3+ =253 (ordinate : (203,(13)
12 +0y2= 95
2 =951
87‘: 13
CERES
m
);‘u.m‘zcn{ GeNTER [DOUMATN Ranee, |9(1'ch50rsv -INTIRCE PTS
RAYP=q [(0,0) aldexsdxeR} fylagy 335&} -3and3 -3and3

-7(‘+3_‘_‘_=3¢, (0,0) {;d-e,sxsb,q_s_ﬂj fyl- Sy6,yeR} ~band & —bcmdf:
'_X“+3‘=r2| (0,0) {-x1-nsxﬁu,xm}{31n< 11, 959} Mand 11 -llqnd

=0 @crd.(fﬂ‘cg (5)0)

5. a) passi ng through C2,~M)
Ly, TF %=2 and 3=-L"?
= r?.
(1) 1-? 4)r=r2
Ht 1l =r*
Do=r2
L Therefore , the equation would be:

Ayt =2
A= DO



Y] passing through CHE 2D
L o= 445 and 5:\5.—?-
K2yt

(40504 (7Y = 02
aeX>)+ 2 =r*

S0+2=1r*

§L=r2

L "[J\-LereFore yHhe equation would be ©

N
YT =82

6. &) A (y-H)* =gy
(’7(-0)24—3(3*%)2: o4
Gonter (o, M)
Q\Qd'\LLS % =64
o
g units

b) (A +2)*+ (2= 44
R+2)2+ (4 +C) 2= 4G

Cﬁw\-er (-2,0)
Radius & r2=49
r= 99
=T units

i w

r
r
r

@) wWith an X-intercept of-122
[N Point (-12,0)

TE x=-12 and y=0%

Ly ”l'ﬁgrefora > the equation would be ©

,—X7_+_ ’2-=r2.

) (X+1)*+ (y-1D*=100

Cerﬁ-er (=1,11)
%Ldius‘é =100
= ‘hOO

r=10 units

d) (’X*Ib)“+(3—3)2'=111“4
(enter (16,2)

Radius e r2= 144

r= \i44 )
=12 units



.

Q) CG,e) 5 r=17
(X-h) +(y-K)i=r2
A=-1)"+
A)* +

b) C(0,3);r=5
(X-h) 2+ (y-K)*=r>
(%-0Y+ ( -3%*= s)*

AT+ (G-3)*=2953

) C('—i,*'—#); =13
’X'hg:'-!-( -K)*=r*
- rct\%:q)*mzs)z

A+ GG =165

-G)*= (I7)"
3*(0)‘= 7

8.a) C(2,-2) and passing Through J'(8,4)

Method 1.2
'D': \! 'X‘L—-X‘)l-'-(al—ﬁi)z
J}L’)%&&tﬂ“
(B)2+(e)*
= V3t
= {72
= BeX 2.
= 62
r=el2 ; C(2,-2)
K-h) 4+ (y-K)2=r*
SR oy

2)+ (¢ > &JB?(Q)
S (G E )t
f?({~2))‘+ (§i‘z))= 12,

ion

(TLeH\od 2%

(x-h)*+(y-Ky=r*
(-2 (g-2)=12
(A-2)*+ (g 2)=12

d) C9,i%); r=2

EN

(H-pY2+ (-K) =
(x=9)* +QL?%— 14)=(2)*
SiH) =

(X+D* +

b) C(10,0) and passing +‘nrc)uﬂh K(,-3)

(Tlefhcd 4%

",D=\K'X-rx‘)"+(tjz-5 1)1

= (Lo + 5O

A-10)*+ =
A-1C)* + * E?

(Tler‘noclzi,
cGo,0) KUi,-3
hw %y

- (G-K8) =2
(1-1C 1+Q\i O)'=r*
GO C3)P*=r>
SI+9 =¢*
Qo=r2

%-h) "+ (G-K) =2
%-10)4+ (4-0)=90
A-10)2+ g*=90




qa)«‘+32—113-5=o
Stepde o> ft"-L?_ﬂ:S
Step2e AT +y-2g+t3e=5+36
Strep38 (A-C)"+ (:j*(c.)z= =y
Center (0,6) ; v={4i units
b) A+ Hx-1 =0
Step s x4« +g*=1
Step 28 X=dx+d +yr =1t
Step3t (x-2)" +(y-0)*=5
quﬁ—tr CZ,O) Y r=€uniﬁs
) Ly -bx—8y-1 =0
Stepls A% +3*78:Jg 4
Srep2t A-exr+9 +y-8y+ib=A+d+ib
Step3 ('X“S)I'i—(:j*"!)iso(a
Center (3,4) ; =26 units

€) JA*+3y4*-36x + 48y +100=0
E':ik‘rmShp : Divide each ferm by 3 .
Ky -12u oy r %3:0
StepAd? A% 12% + oMoy = -100
Step2:d rxﬂ-nzm+aa,?3’+la;j+w--m3_+aewi
Stepss (A=) + (g+®)*= »%Swlm

(x—6)* + CBJrE)‘s ~100 +300
3 3

(A=) + (Y +8)*= Qo0
3

(Eoter (6,78) 5 v2= 200

== !gOCJO

=
.

:

d) 29042y +16%-8y+9=0
Katra Step & Divide eoch term oy 2
'X1+3“+8x-*43+%=o
S+epl2 X*+ R 4 al_n.}:jg _1?%
fep2s  ATHEATN g+ =9 T
Step ATEBAL bi-uj Y+ _[icl o
Step3s  (x+4)*+ (3—2.)‘-.- -19+20
2 I
(x+) "+ (y=2)*= —19+ HO
2 2
(A+4)* +(g-2)*= 91

(enter (-4;2) ;o=

r= [21 umts
2

PR e

10, A*y -G-8y -39=0
Stepti w*ex +y* By =39
Step2? Aea+d T yHEyHE =39+t
Step3: L'X-S)"-\-Q\d-q)t-: &4
a) Gerec QC’J)U:) d) Domaint {X[—5£xs\17xgg}
b)) rodius @ r

"i@tmﬁ ) Range © fyl-H2y<i2, yerRy
o) ot

2

£ £ w 3

-1

e p

-




1.a) _L + % =4 1) Mejor J’vms;z%g)
1' “‘ =1 =12 units
Ub)l . A 2.k
inor ANs= 2b
Ly )‘{Qn(on‘fal Ellipse Nl =2.(1)
= 2 umts
a=G
b=1 W) \l’erhc
(-€,0) and (6,0)
n!) K-inds =2 b and &
y-ints => -land 1
[=Y] LXL_" 1 DES or XIS =20
‘ﬁi— e =2¢1)
L =1 =4 units
co* »* A .
10T 1{{6"‘
Ly Vertical Bllipse o 2(H)
= Zumts
a="1
b= n)v‘erhces

o1 and (0,T)

Vi) %-ints= -4 and Y
B-nr\‘\'s;> -7 and "

2,
a) Major AXIS 16 19 => 2a=12
a=6
Miror RIS 1s 5 =7 QE 55
2

¥Vertical .
E&uqﬁon ° _'L_+ g?# =4

L + A
(%) é%?

x4 =1

23)y
X "LX_D'; + our=1
b ©

) 3‘_._)'.1“ %_z_ =1 i) qu*)ur\ﬂ?\\s

BOYE)
(2)1 é = =6 umts
L, Vertical Elipse - ror ixisZ 30
%?9_ i\) vertices

(0,-3) and (0,3)

1) S-ints=>=2 and 2,
S-\n'\-sr-) “-Sand 3

b)= X-ints=> 17
= y-ints = tq

E,ctuohono AT+ 9 =4
“n* (@2
2B+ gyr=4
49 1

e)POne vertex =x(0,0)
Ly P@mmnma vertex must ke (410, 0)

\\'\gre&;re, the major axis 1S 20 units
Ls Q.Q 20
=10,

2 Minor AXS =6
L, 2b=0b
b=3
Equations A* + o* =4
® QoY 37*
xE oyt =
[¢e}



13a) 1Cx-1)*+ !‘2(8‘1'6)2= 48
lo(A=1)* + utws)l

HE 9% 3%
(A= (3 =1
3 4
Cer\i“er(I -3)

Since s e\hpse 15 verhical, ihis paralle |
1O the Y-axis:

b) 3C mﬂ»*ﬁ)"‘%q(ﬁ—mhm
S+ + 9
"Xi—) + ( _La’_) 27:_:'1"
()™ =
x; + 3\39_)
Center (-4,2)

Since Hhis E\\\pS€|S norizonal, s paratle Lo Hae
X-axXIS-

b) 2%*+5y*+20%x-30y+15=0
Stepls  2A*+20% + 5‘/2{305‘—'-
Bivastep: 2(x+10%) +5(y*-6y)=-T5
Step2a 2(x*+10%+25) +5(y oy +d)=T550u5
Stepss 2(x+5)*+ 5(y-3)*=00

9_§x 5)1+ 5( 5 =) ﬂ%
(LXLSQ + C%_)

14 a) q-x*r?.S\tﬂ—SQ,x-qoo\\j—gq =0 X-axis.
Stepds Ga>-36% +25y*100y =59
Extra Stept Q(x™=4%) +25( 4™~ 4y) = €4
Step2t Q(x*HxrH)+25(yHHy+d) =8q36HE
Stepds A(x-2)% 25(y-2)"=225

Q(x-2)*+ 2 -2)*=1225
229 22 225

(A=2)*+ (Y-2)*=
5 95

15. @Sx*ﬂbalﬂsm‘ +324-159=0
Step L2 O5%HIS0O% +|(032+323=15q
BxtraStep? 25(%*+6x) + l6(y*+2y) =159
Step 22 O5(x *+o%x+9) + 16(3‘+23+:)=|59+225+ne
Step 38 95(x+3) e (y+1)*=4H00

A8 (A +3)2+ 1oyt = 400

“H00 . L")S ~HOO
(A+3* + Léatl =
1 S

a) Centrer (-3 1)



b) (o) + (yt)*=a  C(3,-1)
(m)l =5

verytices
(-3,-1-5) and (-3,-1+5)

3,-6) and (-3,4)

Minor Axis=2b

@) MatorAxis= 2q
o =203 = 2(H)
=10 units =% unis

@) Mayor AXIS= 2.g N
! =2(3) Mner i %(l?z)

= 6 umits = L{ uﬁl+3

T 4™ Ay~ 8x =54y +49=0
Stepde Hx*-8%x +Ay* qu =49
Exi-m Srept H(x22%) + q(tjz_ 63) =-14q
Step 2t H(x*2x+ )+ (Y= oy D443
Srep3s 4 (x-0*t A (3-5)%35
H-)" + Ay-3)" = 36

Q) Gnter(1,3)
b) (=% + (G-3)*= 1

=" 2)"
verhices (1-3,3) and (1+3,3)
(-2,3) and (4,3)
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